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ZEEN (5 % 9) + (20 x 4) =
51 5x9) +((Q20x4) = 45+ 80
- 125

L AU 5x9)+(20x4) = 125 )
1) (54 +9) + (64 + 8) =
Wi B4 =9+ (64 +8) =
Fuu (58 +9) 4+ (64 +8) = T
2) 56 +7)-21+7) =
W GB6=T-Q@1=T7) =
Fou (56 =T7)-(21+7) = T

3) (584 - 542) + (36 — 30) =
5911 (584 - 542) + (36 — 30) =

Fathy (584 — 542) < (36 - 30) =
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4) (62 x5)+ (23 x5) =

aa o

/N (62 x5)+ (23 x 5)

Fua (62 x5) + (23 x 5)

5 (712 x 4) - (30 x 6) =

331 (72 x 4) - (30 x 6)

Fn (72 x 4) = (30 x 6)

6) (196 - 178) x (21 = 7) =
A5v11 (196 — 178) x (21 = 7)

Feri (196 — 178) x (21 = 7)

7) (47 x 7) - (48 +8) =

W (@7 x 7) - (48 =8)

Fm (47 x 7) — (48 =8)
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